Title

# **Community Center**

02/23/2023

by Stephen Bessette in Member District ADA id. 35643080 Project Request

1919 Walnut Ave Hanover Park, Illinois 60133 IL United States 16305462130 s.bessette@hpparks.org

## **Original Submission**

02/23/2023

Name	Steve Bessette
Job Title	Superintendent of Parks, Planning & Maintenance
E-mail Address	s.bessette@hpparks.org
Phone Number	16305462130
Park District	Hanover Park
Project Location	Community Center
Project Status	Alteration
Project Type	Communications
Communications- select a Project Category below:	Signage
Benefits of the Project	To help visually impaired individuals safely navigate our facility. Our old signage had no brail whatsoever and we chose to make the investment on our own immediately to mitigate this. That project has since been completed and we are asking to be reimbursed using the levied ADA funds.
Items that will become ADA Compliant	All wayfinding wall signage such as bathrooms, exits, specialty rooms, etc.
The project is designed or constructed, or applies human resources, to comply with:	The 2010 Standards for Accessible Design The Illinois Accessibility Code Agency's ADA Transition Plan

Lipland Drainat	Deleted	Eiloo	Dhataa	Vidooo	or Audio
Upload Project	Related	Flies,	$\Gamma 1005,$	VIGEOS	OI AUUIO

#### Final\_Invoice.pdf

#### Completed\_Sign.jpg

Budget Table for ADA Related Expenses

#### Budget Table.xlsx

ADA Dollars Requested	4115.0
Notes related to requested amount	n/a





Divine Signs and Graphics 601 Estes Avenue Schaumburg, IL 60193 Ph: (847) 534-9220 FAX: (847) 534-9221 Web: http://www.DivineSignsInc.com

## Invoice #: 37424

Order Created:	12/10/2021	11:22:43AM
Sale Date:	4/11/2022	4:58:25PM
Payment Due:		4/11/2022

Page 1 of 2

Billed To: Contact: Address:		and An An	Created Date: Salesperson: Email: Not Specified: Not Specified:	12/10/2021 11:22:43AM Michael Bigda mbigda@divinesignsinc.com (847) 534-9220 (847) 534-9221
	s.bessette@hpparks.org (630) 546-2130			

		Quantity	Unit Price	Subtota
1 Product:	Custom Products	23.00	\$53.00	\$1,219.0
	<ul> <li>n: 8"w x 4"h Room Signs:</li> <li>All signs will be two-layer / two-color</li> <li>Dimensions: 8"w x 4"h</li> <li>All signs to be pre-taped with VHB tt</li> <li>Installation performed by Hanover P</li> <li>Signage:</li> <li>(1) Dance Studio</li> <li>(1) Activity Room A</li> <li>(2) Activity Room B</li> <li>(1) Activity Room C</li> <li>(2) Activity Room C</li> <li>(2) Administrative Offices</li> <li>(6) Emergency Exit</li> <li>(2) NWSRA Room</li> <li>(2) Board Room</li> <li>(1) Club Manager</li> <li>(1) Director of Racquet Sports</li> <li>(2) Pro Office</li> <li>(1) Durce Strice Coordinator</li> </ul>	r signs with raised text / icons and braille ape ark Park District		
2 Product:	Custom Products	22.00	\$89.00	\$1,958.0
the second secon	n: 6"w x 9"h Room Signs: - All signs will be two-layer / two-color - Dimensions: 6"w x 9"h - All signs to be pre-taped with VHB ta - Installation performed by Hanover Pa - Signage: - (5) Stairs signs - (4) Men signs - (4) Women signs - (4) Mens Locker Room - (4) Women Locker Room - (1) All Gender Room	signs with raised text / icons and braille upe ark Park District		



#### Divine Signs and Graphics 601 Estes Avenue

#### Invoice #: 37424

601 Estes Avenue Schaumburg, IL 60193 Ph: (847) 534-9220 FAX: (847) 534-9221 Web: http://www.DivineSignsInc.com

Order Created: 12/10/2021 11:22:43AM Sale Date: 4/11/2022 4:58:25PM Payment Due: 4/11/2022

3	Product: Cus	stom Products	15.00	\$30.00	\$450.00
	Description:	6"w x 3"h Room Signs: - All signs will be two-layer / tw - Dimensions: 6"w x 3"h - All signs to be pre-taped with - Installation performed by Han - Signage: - (2) Kitchen - (2) Multi-Purpose - (4) Storage Room - (2) Janitorial - (3) Mechanical Room - (2) Sauna / Whirlpool	o-color signs with raised text / icons and braille VHB tape lover Park Park District		
4	Product: Cus	stom Products	1.00	\$66.00	\$66.00
	Description:	8"w x 5"h Room Signs: - All signs will be two-layer / two - Dimensions: 8"w x 5"h - All signs to be pre-taped with - Installation performed by Han - Signage: - (1) Activity Room B & C (with	over Park Park District		
5	Product: Cus	tom Products	2.00	\$55.00	\$110.00
	Description:	8"w x 4"h Room Signs: - All signs will be two-layer / two - Dimensions: 8"w x 4"h with ar - All signs to be pre-taped with - Installation performed by Han- - Signage: - (1) Superintendent of Parks - (1) Executive Director	p-color signs with raised text / icons and braille ea designated to change names VHB tape over Park Park District		
6	Product: Cus	tom Products	3.00	\$104.00	\$312.00
-	Description:	7"w x 9"h Elevator Lobby: - All signs will be two-layer / two - Dimensions: 7"w x 9"h - All signs to be pre-taped with 1 - Installation performed by Hand - Signage: - (3) In Case of Fire Do Not Us	over Park Park District		

Order Subtotal:	\$4,115.00
Total Taxes:	\$0.00
Total:	\$4,115.00
Order Balance:	\$4,115.00

Payment Terms: Payment due upon completion of order.

If paying by credit card: (Cardholder's Signature). Date I agree to pay the above total amount according to the card issuer agreement.

Project Type (From ab Project Category (From Above)		Media File #/Name	Project Category Cost	st ADA Portion of Project Cates % ADA Dollars Requested			
Communications	Signage	Final Invoice		4115	4115	100.00%	
		Completed Sign				#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
						#DIV/0!	
	Total Project Cost	41	15				
	Total ADA Portion of Project Cost	41	15				
	Total % of ADA Dollars Requested	100.00	0%				